JD BOA 36”

JD 9-9RX Series
Bracket Part Number: 2499

(36" Weight Box Part Number: 1828)

™ e

b , ", 5
5 . o, o

ALSO INCLUD

WEIGHT BOX
MOUNTING BOLT
BAG (PN:40001)

JD BOA 36” a '% ‘ JD BOA 36”
RH Bracket e Crossover Bracket

\JD BOA 36’

LH Bracket

ES

Included Hardware (Bolt Bag:40075)
4 X 5/8”-11 X 2” BOLT (PN:80088)

4 X 5/8” FLANGE NUT (PN:86255)

8 X 3/47-10 X 2” BOLT (PN:80100)

8 X 3/4” -10 HEX NUT (PN:80175)

8 X 3/4” USS FLAT WASHER (PN:80222)

Phone-1-800-328-1752
Fax-(320)329-3709
Email-sales@tractorseats.com
Web Site-www.tractorseats.com
P.O. Box 409 - 308 NW 2nd Street

.
3

il

Manufacturing ... vivsess



